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Wy ERT8 @ |18 —l—ﬁi}
4 4
HH i X = (1,2 3,4 2 3L R X W TH 5 5
w1 AR R = (1, 1, (2, 2), 3, 8), (1, 2), (d) {1*233 1_231}
(2, 1),(2, 3), (3, 2 &, 7 Fr=ferfiga § & s
T Gl 2 7 5. o wied wg=d A 3w B % o frafafaa
(a) R ged o aufim &, frg 9w 78 Fort W farew i
2 1. (ANBIUMANBIU(ANBI=AUB
(b) R ®mfa it @ 8, fhg Tagen = 2. (AU(ANB))=AUB
g e e § & FRA T B 0
(c) R H@ged 3 Twm+ 2, feg oafie (a) I 1
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2, i Frefafed & & #9m o wd & 2 (AUB)c(CUB)
(a) R ey i anfia 2, Feg dsm T8 2. (ANB)c(CnB) @l B =l + for
2 =AcC
1 3. (AUB c(CUB)TH B oH=A % folg
(b) R T@ged 31 GFWs 7, fhg wwfim 76 —SAcC
& 94 FUA | HIA-H WE E 2
(¢) R Hqed, aafa 3fit @Fms 8 (a) whad 1 3N 2
(d) R @qed &, fFg 98 7 & oufim & s 7 5 B2 ARE
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@ 1,233
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EDF-S-DGV

What is the n™ term of the sequence|d.

23, 125, 625, -3125, ... 7

(a) . (-5

(b} #,—J."JE“ 5!1-+1

e -pee

(d) i ”n-—l 5'1+1

Suppose X = {1, 2, 3, 4} and R is a relation on

X.IR=1[(1, 1,12, 2),(3,3,(1,2),(2,1),(2,3),

i3, 2, then which onec of the following is

5.

correct ?

{a) R is reflexive and symmetric, bul not
transitive

{(b)> R is symmetric and transitive, but not
reflexive

ied R iz reflexive and transitive, but not
symmetric

(d) R is neither reflexive nor transitive, but
gymmetric

6.

A relation R is defined on the set N of natural

numbers as xRy = %o dxv + 35?2 = 0, Then

which one of the following is correct ?

{al R is reflexive and symmetric, but not
transitive

(b} R is reflexive and transitive, but not
symmetric

fe) R iareflexive, symmetric and transitive

(d} R isreflexive, but neither symmetric nor
transitive

(3-A)

IfA=ixe Z:x"—1=0}and

B={xe Z:x"+x+ 1= 0], where Z is set of
complex numbers, then what is A N B equal
Lo ?

{a) Null sel

[“1+48i -1~81)
R R
i [_1+J§t -1-43
| 4 4
i {11j§i115;ﬁi}

Consider the following statements for the two
non-cmpty sets A and B :

1. MNBUMANBIUANBI=AUB

2. (AU(CANB))=AUB

Which of the above statements is/are correct ?
{a) 1only

(b) 2 only

{e) Bothland2

{(d) Neither 1 nor 2

Let X be a non-empty set and let EL,- B, C
be subsets of X Consider the following
statements :

1. AcC=iANB ciCnB),
(AUB c(CUB)

2. (ANBIc(CNB)forallsets B=AcC
3. (AUB)c(CUB)forallsetsBE=AcC
Which of the above stat;ﬂn&nta are correct 7
(a) 1andZ2only

(h) 2 and 3 only

(e} 1and3only

(d) 1, 2and 3
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7. @K B=|2 4 0|2, d B® usEed I8
1 1 0
fores mqm B2 0
[0 D D
{a) 0 o o
=2 ~F @
[0 0 -8 12,
bl g 0 =1
0 0 8
M 0 2
e |0 0 1
0 0 0
(d) THFI Afas 751 & 13.
8. FHH X’ -x-6|=x+2 HHAFE?
fa) —-2,1,4
(b) 0,24
¢} 0,1,4
d) -2,2.4

9. aﬁ ﬂ%,?ﬁma[a'ﬁ%

(a) YRR e
(b) HAHTHIT IR

(el ?Hﬂﬁﬁ AR
(d) eFfam =R
x =85 1
10. I |w 1 i
0 2 —i
AT S O 2
a) —-3,4
(h) 3,4
e} 3,—4
d)y -3,-4

EDF-S-DGV

14.

=6+ 111 %,Eﬁxﬁ]’(y%
15.

(4-A)

“za+2z2+22+1:[}3ﬁ1
2T 8y 3 v e

(a) -1,
b) 1,0
© -1,
d)  w w

I €20, n +2) = C(20, n — 2) %, A1 n fFTH
T 2 2

fa) 8

(by 10
e} 12
(dy 16

e arad W 10 famg # 1 g fagatt § & i o
i fog U Tie v | 7€ # | 3w et
1 Fa wen el & 5 5 famgedi 1 S
R AT HFAT 8 9

la) 90
fhy 45
{e} 40
(dy 30

uaﬁtb,mpxz+qx+r:0{ﬁﬁp,q,r
aft ven B) & fm mafes @ §
frefafen 0 5 R ws @@ 2 ¢

fa) a=0 b=0

ib) a<0 b<0

icd) a=0 h<0

idry a<0, b=0

T A=, w)) B, @ A F H ag=E (Wa
de) 2

(a) 4, (0), (A, (0, )

(b) {0, (&, (A, pil, (st W)

e) o, (2], (o, by 14, 10 1l

(dy WAL (A, wh A, 1A, plll
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3 2 0 11.
7. II'B —{2 4 DW, then what is adjoint of B
11 0]
equal to ?
] 0 o
(a) 0 o 0
-2 =1 8
0 0 -2
b |0 0 -1 o
0 0 8 J
0 0 2
(ec) 0 0 1
o 0o 0
(d} It does not exist
13.
8. What are the roots of the equation
|x° - x~6| =x+2? :
fa) -2,1,4
(b) 0,24
(¢) 0,1, 4
(dy —-2,2.4
r} 1} o
9. If A= . then the malrix A is afan
ki @y 14.
{a) Singular matriz
(b} Involutory matrix
{e) Nilpolent matrix
(d) Idempotent matrix
% =B 1
10, If |y 1 i |=6+11, then what are the
Q 21 -1 15,
values of x and ¥ respectively !
(a) -3,4
(b)y 35,4
() 3,—-4
(d}y -38,-4
EDF-S-DGV (5-A)

The eommon Ttoots of the equations
Z0 +22° + 22+ 1=0and zmw+;2mﬂ+1={]
are

a) —-lw

by 1, >

e} -1, '

() w0

If C(20, n + 2) = C(20, n — ), then what is n

equal to ?
(a) 8
(by 10
e} 12
dr 16

There are 10 points in a plane, No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by jeining the points ?

(a) 90
th) 45
(e} 40
td) 30

The equation px2 + gx 4+ r = 0 (where p, g, r, all
are positive) has distinet real roots a and b,
Which one of the following is correct 7

(a) a>0 b>0

by a<0, be<0

ey a=0, b0

id) a<0, b=0

If A = [, [4, i}, then the power set of A is
(a) ¢, {dh (AL, {2, pHt

(b) Ay, 1A}, Ha, bl 1404, i)

() {0, [A] AR, ud, (A, 1A, piH

(d) (A, 2, i, 12 A, il
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W T AT 02 (F) wvEt @ o Felerf we

foreft foremem |, wfi om fi9 s o @l (39ER
) — yraet, & oin 2ae o & SRae
wE @erd | 60 9T Tt Wew §, 50 Twe 2w
aed 8, 48 W Wew &, 12 oy ofh w3
wed #, 156 W ik dEw i Ee @ew g,
20 aa ¢fam afi st ST @em # |

16.

17.

18.

EDF-S-DGV

foemea § ol @ =gET d@Em =B g
#2 -
(a)
(b)
(c)
(@ 63

123
111
95

frmem # ol it wsfieaw e e @
el & 2

(n) 111
(h)
(e)
(d)

123
125
135

M A WM 3 F UF TEE WEgE R, @
TEHhEEH fae (AY

(a) YT TR o qUA }

(h) A T B

{¢) BA S == R

@ o e Td 2

19.

20.

21,

22,

(6-A)

A, #FifE 3 F W YER F uw T oy §
TWE anfie H OWH 4 B | ek ufEd &
arefis 1 R 2

(a) 64
{b} 36
(c) 32
(dl 4

6 Wi N 4 efiel § @, ve walem
5 =aferal 1 el e =mean @ | 7R feet v
# form 1 g @ aifes sndFn v e
& i srEavg A 2

209

210

246

242

{a)
(b)
(e)
{d)

[(2x - 3y)% (2x + 3y)%)° & formm # w2
TEAT Y

tal 4

b 5

(¢ 8

(d) 18

1+ ax)" o foream o, west 7 92 A 1, 12x
¥R 6ax* & | n forerh aren # 2

(a} 6

(hy 9

(e} 10

d) 12
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Consider the following for the next 02 (two)
iftemns that follow :

In a =chool, all the students play at least one of

three indoor games — chess, carrom and table

tennis. B0 play chess, 0 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

[l

16, What can be the minimum number of students
in the school 7
fa) 123
(by 111
e}y 95
d) 63
17. What can be the maximum number of
students in the school ?
ay 111
by 123
(e) 1256
idy 135
18. If A is an identity matrix of order 3, then its
inverse (A™Y)
(a) isequal to null matrix
(b} isequal to A
(¢) isequal to 3A
id) does not exist
EDF-5-DGV

19.

20.

21.

22,

(T—A)

A iz a square matrix of order 3 such that its
determinant iz 4. What is the determinant of

its transpose ?

(a) 64
(hl 36
() 32
dy 4

TFrom 6 programmers and 4 typists, an office
wanta to recruit 5 people. What is the number
of ways this can be done so as to recruit at
least one typist ?

{a) 209
(by 210
(e} 246
(d) 242

What is the number of terms in the expansion
of [(2x — 3y)% (2x + 3y)°12 ?

tal 4
(b} 5
() 8
(dy 16

In the expansion of (1 + ax)", the first three
terms are respectively 1, 12x and 64x>. What

isnequal to ?

(a] 6
by 9
{e) 10
(d)y 12
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23, FEd 1, 5 3N 25 919 9 (EAME BT H B

24,

25.

26. 25 cosec” x + 86 sec® x T ZFAAH HH AT
£ 30.
(a) 1
(b) 11
e} 120
@ 121

EDF-S-DGV (8-A)

STEYESH T ) B A6 &
(a) ad UH AP

UF  aAfers 1 uftfid dem d§ Aps %
(¢) F9ifig TEm 5 APs &

ftfir wear § GPs %

(hl

(d)

TRt AP (p + qd 3N (p — g)F BT T ITHA

. wE R
(a) (2p)d U5 %H
(b) (2q/d 95 %
(¢) pd 95 HTHH

@ @ REFAF

g A, HIR n > 1 & TH T A=ZE B, A
f=fafea § & -0 vs udt 2 2

{a) deti{—A)=detA

(b} det(-A)=(—1"detA
() det(—A)=—detA

id) deti—A)=ndetd

Tt HrA arer 02 (F1) wvAl & fore Feforfea @t
farame &ifa -

217.

28.

H i A 3 B, (3 x 3) IegE B @
dﬂtﬁ=43ﬂidetB=3% I

det (2AB) feras smat 2 2

(a) 96
by 72

{e) 48

(dy» 36

det (3AR™) Fpash st 2 9

(a) 12
b) 18
c) 36
(d) 48 .
AT ST are 02 (F1) Tl & fow At o
. U HWY HEW W OTER 4 M E T
o L1+2
1-(1-i)*

29.

z =Rl W4T &1 & 2

fal 4
by 2
ey 1
1
{d.'l E
2 1 q& HI0 41 8 7
tal] 0 1
I e
(h) 1
R
{CJ E
idy =

& Teachingninia.in



23. The numbers 1, 5 and 25 can be three terms | Consider the following for the next 02 (two)
{not necessarily consecutive) of items :
\ 1 AP Let A and B be (3 x 3) matrices with det A = 4
ST IR and det B =3,
{b)  more than one but finite numbers of APs
(e}  infinite number of APs 27. Whatis det (2AB) equal to?
{dy finite number of GPs (@) . 96
by T2
{c) 48
24, Thesum ol (p+q) and (p—-q) terms of an
AP is equal to
28. Whatis det (3AB™) equal to?
(@) @™ term @ 12
(b) {zq]ﬂ.‘l T th) 18
ic) 36
{¢) Twice the p™* term (d) 48
(d} Twice the qth term
Consider the following for the next 02 (ftwo)
ilems :
A lex number is @i by z= AR
25. If A is a square matrix of order n > 1, then comp caikan i 1= =%
i following i 7
which one of the following is correct 99, What is the modulus of 2 ?
(a) det(—Al=detA @ 4
{C} det {—ﬂ:l = “deti’b (U:l 1
{(d} deti-Al=ndetA 1
d =
2
26. What is the least value of |30, What is the principal argument of z ?
25 cosec’ X + 36 sec? x ?
(a} 0
fal 1
T
(b) 11 ) 7
¢l 120
{ (c) l;-
d)y 121
dy =
EDF-S-DGV {9-A)
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sin 34° cos 236° — sin 56° sin 124°

L cos 28° cos 88° 1 cos 178 sin 208 1 1 N o
22
(a) -2
by -1
ey 2
d) 1

B 9w R0

(a) -1
(b 0
() 1
dy 2

32. tan 54° Wi fhe s sifer RRn s owwan | A o aTet 02 (31) vt & ferg Fefarfem w
27 ﬁ"ﬁ"-’?‘ﬁﬁﬁ?:

gin 9° | cog &°

@ Eﬂ“ — cos 9°

gin 9° — cng 9°

b
: gin 9° + gos 9° 16
() cos 9° 4 gin 9°
cos 8° — gin 9°
q gin A6°
(d) pos 36°

T TR AT 03 (i) et & forg et o

fereame &ifore :
‘Tﬁp=Xcoaﬁ—YninH,-:;:Ksinﬂq-Ycasﬂ
IR p? + dpg + q° = AX® + BY? B, st

050 g 21

37.

33, oW UM FE?

(a)

A

(b)

(c)
38.

mid &2 wia

(d}

34. AFR A FNER?
(a} 4
(hy 3
(e} 2
(d) 1

EDF-S-DGV (10-A)

T7 féam T B 16 cos (0~ ) = a, cos (0= P) = b

2

cos (o~ 3) Formen e & 2
(a) ab+ m '\.rrl_“_hu
() ab=yl-a? J1-b2
(e a\,m -—b\ﬁ—_aﬂ

(d) u-J‘l ~B* +]:-J1—— a?

sin? (et — [3) + 2ab cos (o ~ ) FoFees o & 2

(a) a®+b?
(b) a%-b?
() b*-a’

(d)  —(a%+bh

AR sin o + cos a = p B, Ao cos® (20) FFEH
R 7

al p

(b) p°-1

(©)  p%@-pH
(d) pz +1
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31.

32.

What is the value of
sin 34° cos 236° — sin 567 sin 124"
cos 28° ooz 88° + cos 1758 sin 208°

fa) -2
thy -1
(cy 2
dy 1

tan H54° can be expressed as

a8in 9° + cos 9°

(o) gin 9° — pos 9°
gin 9% — ooz 9°
b e M 21
(b) s1n 9° 4+ cog 9°
() cos 92 + gin 9°
cos 9° — sin 9°

sin 36°

B ———

) cos 367

Consider the following for the next 03 (three)
itemns :

and ]:|2+4|‘}(1+E12=AKZ+BY2, D*_:(]ii%. a7.
33. What is the value of 6 ?
m
tal 3
i
(b) 5
T
(e) i
{Id} % 98,
34. What iz the value of A Y
{a) 4
by 3
0y 2
dr 1
EDF-5-DGY (11-=A)

Hp=Xcos0—-Ysin0,q=Xsinb+Y cosB

35.

Whal is the value of B 7

(a) -1
(b} 0O
e 1
(d) 2

Consider the following for the next 02 (two)
items :

36.

Tt iz given that cos (8 — o) = a, cos (B — ) = b.

What is cos (¢ — ) equal to 7

(al- ah+ Jl—a2 u.'i;];l
(b} ab= 41-a? {1-b2
B ayl—h® ~lij1—a2

(d) ayl-b? +by1-a?

What is sin® (c - B + 2ab cos (¢ — ) equal
to ?

(al .-12 + h2
(b) a®-b
ey b°—a”
(@ —(a®+b%

If sin o + cos « = p, then what 1is cos” (2c1)

equal to 7

{a) p2

by pi-1

© pi2-p?)
{d) pz +1

& Teachingninia.in



39, sin"lg— +sec_l§ _ % =T A T8 7 42,
L b
j M
(a i
Ly o JF
(b -
e} m
dy 0
2
.40, ﬂﬁsin_1ﬂ§ —t::::lns_”_'q2 = tan™ 22.2
l1+p l+qg 1-x% (43
B, A7 x fopes s 2 2
) 214
1+pg
i £=1
1+pg 44,
Pq
(c) —1+Pq
@ 29
1-pq
1 1
41. a2 tan o= 3 G-ﬁTtan(p— . %, i (0 + @) =Bl 45.
= TR 7
ta) 0
b B
(h) 8
T
{C:] 4—
™
(d) 3
EDF-5-DGW (12-A)

'\I "y
qﬁ cos A = ; %, G| sin[%j ﬁin[%J =l AH

TR 7
(a) g
(b) %
(c) %
(d %

tan 75° + cot 75° =R HH w%_?

(a) 2
(h) 4
(¢} 243
d 43

cos 46 cos 47° cos 48° cos 49° cos 507 ...

eos 135°
=1 G 41 E 2
(a) -1
(b) 0O
{c) 1
(d) 1% sfires

aﬁsm2ﬁ=msae,aﬁn<qu‘a,ﬁsina
formes am 2 2

1."'5+1
4

VB -1
4

{a)

(b}

-Lj

a+1
16

J5 -1

16

()

(d)
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i
39. What is the value of ==:iﬂ:LE T s L ]
(51 4 2
T
a L
(a) 1
b ki
(b} 5
) =
{dy 0
2
40. If gint Epz = cu$_11—qz = tan 2X2 : 43.
l1+p l+g 1-x
then what is x equal to 7
@y 2F4
1+pq
b 21 4.
1+pgq
Pq
(c) e
1+pg.
G 2T
1-pq
45.
41. Iftan 0 = é— and tan ¢ = %, then what is the
value of (8 + @) ?
tal 0
T
b =
B
T
ich —
4
T
d i,
{d) 2
EDF-5-DGY (13=A)

1

If cosA= E,

4
. (A“ . [3:‘1“
sin —|sm -~--MJ ?
L2 2

then what is the wvalue of

5]

(a) E

o
ih) ﬁ
R
24

T
d S
i(d) 55

What is the value of tan 75% + cot 75°7

(a} 2

ih 4

© 248

{dj 41.'%‘

What iz the wvalue of

coa 46° cos 47° cos 48° cos 497 cos H0°
' cos 135 7

fa) -1
{by 0
ie) 1

(d) Greaterthanl

If sin20=cos38, where 0O<f8< %, then

what is =in 8 equalio?

VB +1

(a)

fhy BRI

teh

(d}
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46, 'ﬂﬁ'ﬂ‘ﬁmxg+px+q=ﬂ%1{:ﬁtan19”@-ﬁ
tan 26° 8, @1 F=Afefgs 4 4 S99 v T
G
fa) g-p=1
(b} p-g=1
e} p+g=2
(d¥y p+g=3
47. n " afl uw AP frEs wdl w1 avea
nin + 1) 8, &1 =97 92 R 2 2
fa) 6
(by 8
(e} 12
(dy 20
48. (1 +tan « tan ) + (tan o — tan B)° —
SCEE'.IS’UCEEI
foFeeh e 8 7
(a} 0
(b} 1
ey 2
(dy 4
49, 3fZ p=cosec B —cot @ N q = (cosec B + cot gy
2, @ Frafafas 8 9 wH.a vF od 2 7
(a) pg=1
(b} p=4q
el p+gq=1
(di p+qg=0
50. Ifc v YT ABCH FW 1:2: 3% 9 8
&, dt T e R s § § 0
(a) 1:2:3
(by 3:2:1
(@ 1:43:2
d) 1:3:42
EDF-3-DGV

51.

(14-A)

frafafea weai o fasm Fifsm .

1. u% wa e o, Ae wid
xcosO+ysinO=p 8 WRET (¢ p
4 @N oM @ H e
|wcos B+ Psinb+p| B |

2. fag m,B)ﬁi‘Eﬂ—l— 1 W EfE M
?mﬁﬁmf%g%gﬂﬁl

I HuEl oW} HEEE TE AR 2

(a) a1

(b) e 2

() 132 gAl

(d AdM 1, A8 2

52. UH T x° + y° = a” I U a1 HI =4H THH

%@WW% Iaﬁﬁﬂm,}@wa‘y:a‘:ﬁ
feora & | ga = wdfieo w2 2

(al xg+y2—ax—ay+a2={}
{b) x2+y2—a_x—a}r=lj

{c) x2+y2+ax+a§,r=ﬂ

{d} x2+}r2+ax+ay—2a2:{]

& Teachingninia.in



46. If the roots of the equation X% 4 px + q=0 are |51,
tan 19° and tan 26°, then which one of the
following is correct ?
fa} g-p=1
(b} p-q=1
{c) p+q=2
dy p+q=3

47. What is the fourth term of an AP of n terms
whose sum is nin + 1) 7
{al 6
{b) 8
(e} 12
(dy 20

48, What is
{1 + tan o tan [5}2 + (tan & — tan H}E -

sec” o sec’ &
equal to ?
fa) 0O
b 1
e} 2
(d) 4

49. If p = cosec 8 —cot 8 and g = (cosec B + cot )L,
then which one of the following is correct ?
fal pg=1 62,
thY p=q
e} p+q=1
d) p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2:3, then the corresponding sides are in
the ratio
fad 1:2:8
by 38:2:1
(€ 1:43:2
@ 1:43:J2

EDF-S-DGV (15-A)

Consider the following statements :

1. For an equation of a line,
xcos8 0 + ysin 0 = p, in normal form, the
length of the perpendicular from the
point (c, {1 to the line is

|ocos O+ sinO+p|.

2. The length of the perpendicular from
the point (¢, B) to the line X4 :; =1 is

a
aw + bf — ab

.,Il'ai + b2

Which of the above statements is/are correct ?

ia) 1 only

{b) 2 only

{e} Both1and 2
(d)  Neither 1 nor 2

A cirele is drawn on the chord of a circle
x% + y* = a® as diameter. The chord lies on the
line x + y = a. What is the equation of the
circle 7

(a) x2+y2-ax-ny+a2=ﬂ

2

(b) x +y2-ax-ay={'}

K

) x +y?‘+nx+u}"=ﬂ

(d) x2+yz+ax+ay-2a2mﬂ
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53. UF dgw W fReft fag < i et W

bd.

55.

56.

EDF-5-DGV

TTHS 3T 8 AT T8 w0 &
oy e 6 ST
drd 14 1 T ®
Tifirsis 1 Terd %

A ot anfery wie F TeEgl &
TTRet o

(a)
(h)
L)

id)

gt 26 —3y? —6 =0 Tiwfua = 8

{a) T ad
(b} T=h TEETT

() UH g
(dy W AlgEeE

Eﬁfqﬁm}jzfiaxﬁ( x2=4ﬂy'ﬂﬁﬁ'ﬁﬂ§
(a) T y=x ﬂﬁﬂ?ﬁﬁlﬁ&ﬁﬁ
(b) e qei-fag ™

(el ?ﬂ?ﬁ@aﬁmﬁ?ﬁ@rmy+x={1q{
feore 2

(d) hae (4a, 40) T

famg (1, 3) ¥R (5, 1), Uk 2794 * € G@
Flomg @ y=2x+c WU & | o1
HH =8 2

{a} 2

(by =2
ey 4

dy -4

L

o58.

59.

60.

(16— A}

Ife @ 3y+4xz1,y=x+53ﬂ'tﬁy+bx=3
wret B, Al b R HE =R Y

(a) 1
(b) 3

icy 6

1
dl =
: 2

IH WiE > G R A oy = x W
8 3N (3, 2) ¥ B THe B 7

(2) x-y=5
(b} x+¥=5
fe) x+w=1
dp x=y=1

WA W@ x+y-4=03x+y—4=03N
X + 3y — 4 =0 Th g ==t §; gy fiyw

(a) WHfgEE B

(b) wEEIR
(c) WHUETE &

(d) forwmag 2

Eﬁx2+_~,;2+4x—'?y+12=ﬂ§m;r-«3ﬂ1q'{m
T U A He TR W 2 0

{a} 1

(by 3
{e) 4
(dy 7
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53. The sum of the foeal distances of a point on an
ellipge is constant and equal to the
fa) length of minor axis
(b} length of major axis
(e} length of latus rectum
(d) sum of the lengths of semi-major and

semi-minor axes

54, The equation ax? — :‘i;,a2 — 6 = 0 represents
(a) acircle
(b} & parabola
() anellipse
(d)  ahyperbola

55. The two parabolas y2 = dax and x* = day
intersect
(a)  attwo points on the line y = x
(b}  only at the origin
{¢) at three points one of which lics on

y+x=0
(d)  only at (4a, 4a}

56. The points (1, 3} and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢, What is the value of
c'?

(a) 2
(b) -2
le) 4
(d)y -4
EDF-5-DGY

a7,

58.

59.

60.

o

If the lines 3y + dx = 1, vy = x + 5§ and
Sy + bx = 3 are concurrent, then what is the
value of b ?

a) 1
by 3
e} 6

1
d X
(d) 5

What is the equation of the straight line which
is perpendicular to y = x and passes through
(3,2)?

(a) x-y=5
(by x+y=5
¢} =x+y=1
(df x-y=1

The straight lines x + y-4=0,3x+y-4=10
and x + 3y -4 =0 form a triangle, which is

(a) isosceles
(b)  right-angled
(e}  equilateral

{d) scalene

The circle x° + },2 + dx — Ty + 12 = 0, cuts an
intercept on y-axis equal to

fa) 1
(b) 3
e} 4
dy 7
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61. A2, -8, 3), B, -3, — 4) 3T C(2, -3, -2) ¥fii | 5.
arel Tk e 1 Fe w2
(a) (=3,3,-1)
(b) (3, -3, -1)
I:{,'!:] [:3:- 11_3]
{d)  (=8,=1;-8)
66.
62, M x>y  +2° —6x+8y— 102+ 1=07H
forsm = 22
"{a) b
b 2
ey T
d) 3
67.
63. THTC 2x +y+22=90 3 dx -5y -4z=17%
yfegie #i fag (8, 2, 1) A TFE S AHAE
&1 el T4 8 7
fa)  10x-2y+22=28
(b) 1+ 2y + 2z =28
() 10x + 2y - 2z = 28
{d) 10x-2y-2z=24
; i 68.
64, UL TTE] 4x — 2y + 4z + 9 = 0 3N
Bx~4y+52+21=ﬂ%’ﬁ°ﬁ’a‘=ﬁq‘ﬂwg?
1
(a) -&-
1
I s
() 2
3
[t -
i) 5
7
d L
(d) 2
EDF-S-DGV (18- A)

2-318 = faeh s #41 8 ¢

a) =1,1,1=

by =1,0,0=>

ey <0,1,0>

(dy <00, 1>

af w =1 -2 esk M b =21+ § -3k
2, W (b —a).@a + b)FrEs vt 2
(al 106

(b} -106

(e} 53

(d) -53

afy fage A o B % feufa wfew e

39025 + & el 44 ak ¥ B AR
&1 TraTs bR Y

(a) 14

(b) 29

(e} /43

(d) 53

Ifz vk woeRior Brys ABC H, mﬁrﬁp% i
AR . AC + BC . BA + CA . CB foas
FUET 7§ 7

(a) p

(b}

(o) E—-—

dy p
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61. The centroid of the triangle with vertices|65.
A2, -3, 3), B(5, -4, — 4) and C(2, -3, -2} is the
point
(e} (3,1,-3)

(dy (-3,-1,-3)
! 66.

62, What iz the radius of the sphere
x2+}'2+zg—ﬁx+8§?—1ﬂz+lzﬂ?

(a) &
(h) 2
(e} 7
d) 3
67.

63. The eguation of the plane passing through
the intersection of the planes 2x + v + 2z = 9,
dx — By — 4z = 1 and the point (3, 2, 1) is
(a) 10x — 2y + 2z = 28
(h) 10x + 2y + 2z =28

-{e) 10x+2y—2z=128
(d) 10x—-2y—32z=24

64. The distance between the parallel planes
dx -2y +4z2+9=0and Bx -4y + Bz + 21 =10 8
i J

1

) Il
(a 1
1

(bl =
2

3

|: . —
c) 2
T

(d) =
4

EDF-5-DGY (19-A)

What are the direction cosines of z-axis ?
a) <1,1,1>
(b)) <1,0,0>
(e} =<0,1L0>
d) <0,0,1>
i_; + 3 — 31:

- A A A A
Ifa =i-23j +5k and =21

- = - =
then whatis(b — a ).{3a + b legual to?

(a) 106
(b) —1086
(c) B3
(d} -53

If the position vectors of points A and B are
an A A N e 4]
3i-27+kand2i +4) —3k respectively,

then what is the length of A_]g'- Z

(a) 14
(b) 28
(¢} a3
(d) /53

If in a right-angled triangle ABC, hypotenuse
AC = p, then what is

— . = o — =
AB . AC + BC . BA + CA . CB cqualto?

(a) ]:a2
(b} 2 p2
2
: P
{e) 5
dy p
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69. whail ¥ =21-6}-ak ol T -atesi-f|72
% w9 o IV T HIE (sine) B
baf  m
26
5
(..
V26
el i
= 73.
1
{d) 26
70. » w1 F@ A wm g G fom wfEw
31 + 43 - k st aRw 21 « A + 10k
e 8 ?
fa) 1
v4.
by 2
te) 3
id) 4
71. x % AMH secﬂ{tan'lx}ﬂ%?q'—;[wi??
78.
{a) 2x
b x2+1
ey x+1
(d)  x°
EDF-S-DGY (20-A)

% fix) = log(1+x) 8, @
df4) + 5R1) - logy, 2 ForEeh s & 7

fa) 0
(b} 1
- (e} 2
(dy 4

fx) = In (4x2 +1 - x) gR1 Sonfim o wem f,
#

(@) T UH FeH

(b) U fHEE wE

(c) ®H AR fowy wom Ml

(d) o & FH T E e wem

1) = log, 10 BT qRWISd B 127 S &

fa) x=10
(b) x=1{]$“i’f_ﬁm,x>ﬂ
(e} x=10
(d) x=1%R BEHR, x>0

= 3
limﬂ foreer TE 2 7

x—0) x
(al 0
thy 12
(¢} 24
d) 36
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69. The sine of the angle between vectors 72.
—¥ A A ” —r A A A
8 =2i —6j-3kand b =41 +3j-k
s
1
{a) =
J26
5
(b} —
V26
5
EL} E
1 73,
(d) —
26
70. What iz the value of A for which the vectors
M A A A M M~
3i +4j — k and 27 + &) + 10k are
perpendicular 7
{a] 1
b 2 g
(el 3
idr 4
71. What is the derivative of sec” (tan ' x) with
respect to x ?
(a) 2x 5
(h) x“+1
ey x+1 J
(d x°
EDF-S-DGV s O

If flx)=1logq(1+x), then what is
4fi4) + 801) — log;, 2 equal to ?

tal 0
(b} 1
(e} 2
dy 4

A function f defined by fix) = In (m - %)
is

(a] an even function

(b}  an odd function

ic) Both even and odd function

id) Neither even nor odd function

The domain of the fTunction f defined by
f(x} =log, 10 is

(a) x=10
(h) x>0 excluding x = 10.
cd x=10

(d) x>0 excluding x =1

3

1—ecos” 4x |
is equal to

:!iTu %
(a) 0

by 12

fed 24

idy 36
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76.

7.

78.

79.

80.

EDF-5-DGV

r>0 % fou, e % uw g9 & qfey
BIFE H SFUE fir) B | 99 (1) + 12) Trud
T B 7

(a) 1
by 2
() 3
(dy 4

Ifz fix) = 31 8, M@ fix) fly) fz) e aoan
29

fa) flx+v+z
(b) flx+y+z+1)
e}y fix+y+z+2)

d) fix+y+z+3)

Wi & + 9)x| + 20 =0 % fom awafas
el i wEa @

(a) E4

(b) ©H

(e) @l
(dy =

g fix) = sin (cos x) B, A £(x) FoFEr w2 2
{a)
(b)
(c)
(d)

cos (cos )
5in (— sin x)
{#in x) cos (cos x)

{— sin x) cos (cos x)

e fix) = f(2-x)(x—3) & S0 8

(0, )
[0, o)
(2, 3l
(2, 3)

(a)
(b)
(e}
id)

B1.

82.

83.

(22-A)

Heehe! THEHTOT %:ms{y-——x}+l T EA B

(a) e'[sec(y—x)—tan(y-x)]=¢

(b)  e*[seci(y—x)+tan (y - x)] = ¢
(¢} e'secly—x) tan(y—x)=c¢
(d) e*=csec(y—x) tan(y—x)

I
j |sinx —cos x| dx ToFmeh aUET & 9
0

ta) O

B 2(y2 -4

€ 242

d) 2032 +1)

Hﬁ y = & cos 2x + b sin 2x %, Gl

{a) §;§-+y=[}
(b) g:-??:+2y=ﬂ
(c) 3%’7—43?:{]
(d) %+4}T=D

u1g 1 UH § S WA H v 2 "o (Ui
Ush AARHN TR 3R dgaern ol aren)
H g ® | At T TS dAwe B e
@ A, 9 3 sed il FEE H AUFAEn
Tl & =8 & sr9Ta == & 7

fa} m:(m+2)

(h) im+2):n

e} 1:1

(d) I ° A HIS A8
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76. Forr > 0, fir) is the ratio of perimeter to area [81. The solution of the differential equation
of a circle of radius r. Then f{1} + fl2] iz equal dy _ cos (y—x) + 1is
Lo dx
(a) 1 (a) e"[sec{y—x)—tan(y-x)]=c
by 2 (h)  e¥lsec(y—x)+tan(y -x)] =¢
ey 3 (©) e"sec(y—x) tan{y—x)=c¢
dy 4 (d) e*=c¢sec(y—x) tan (y —x)
77. If fix)= 3" then fix) fiy) flz) is equal to 5
(a) fix+y+z 82, J |sin x — cos x| dx  is equal to
by flx+y+z+1) i
ey fim+y+z+2) fa) O
(d) fix+y+z+3) (b) 2(+2 -1
(€) 242
78. The number of real roots for the eguation ()22 4+ 1
xz+9|xl +20=0is
ial Zero 83. Tf v =acos 2x + bsin 2x, then
{ O 2
h} e i_ﬂ-] d_'-‘::r + };- - D
ic) Two dx
. i 2
{(dl  Three (h) dw‘i +2y =
dx?
79. If fix) = sin (cos x), then ['(x) is equal to d?y
el o 4}' =0
(a) cos(cosx) %
z 2 2
(b} sin(—sinx) @) d _j;r St
(¢)  (sin %) cos (cos x) x
(@) d-zimxloos (o) 84, A given quantity of metal iz to be cast into a
half cylinder (i.e. with a rectangular base and
80. The domain of the function semicircular ends). If the total surface area is
B e to be minimum, then the ratio of the height of
o LS the half cylinder to the diameter of the
semicircular ends is
) (0, =)
{a) m:lm+2)
LA ) (m+2):m
ey [2,3] w3l
() (2.3 id} None of the above
EDF-5-DGY (23-A)
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ta | A

85. Qoin® cosxdx TehEeh SR % "
]
a) e+1
by e-1
{c) e+2
idy e
g6. IR f‘m="‘2, x+-28 T flx
X+ 2
T B 7
e
x-2
+2
b
W =
() x+d
x—2
() 201 + x)
1-x
B7. I In(x*) dx o s & 9
tal) Z2xinix)-2x+c¢
bl 2 F e
X
(e} 2xinlx)+c
{d) 2!{1_{_:1 - 2%+
X
EDF-5-DGY

828,

80,

ferereh

(24-A)

fomg (4, 208 y* = 8x Y sreqan gl fords s
R

(a) 2
(b) 242
ey 2

d) 342

y-3E H qE-fag W e s e ge-fem
=1 3Taehel FHIH B

(a) x° +3,f2 - Erqrd—y =0
dx
; : dy
(b x‘£+»2+2x—=ﬂ
¥ lVq:lx

x> ¥+ 2xy dy =0

(e)

E dx

S R
dx
dz? dy.\g

FEhe FHERY +2[—J +9y=x7%
dx‘g dx

e § frafafas o faan $ifho .

1. fase afteter & um (fef) 12
9, eehe avte i Fife () 27
I FeET H H FH-EVH FE R E 2
(a) Hae 1
Had 2
13 2 gHi
Ad 1, AE2

(k)
{eh

(d)
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ik B8,
85, j e cos x dx s equal to
0
a) e+1
ih) we-1
e} e+2
8O,
d) e
86. If fix)= x—21 x 2 —2, then what is ~x)
equal to ¥
4(x +2)
(a) S
x4 2
b dix—2)
00,
x+2
(e} . 5
() 21+ x)
1-x
87. Whatis j In(x?) dx equal to 7
{al Zxlnix)-2x+c
bl 2 e
X
ic) 2xinx)+ec
ay XL e
x
EDF-5-DGV {25-A)

The minimum distance from the point (4, 2} to
}*2 = Bx 15 equal to

(&) 2
(b) 242
ey 2
(d) 342

The differential equation of the system of
circles touching the y-axis at the origin is
dy

2
+y —2xy-——= =10
¥ }rdx

{a) 2

b a2y o
dx

32—3'24 27{‘v‘:1—:"r =0

(e}

c L

WY 2o
dx

Consider the following in respect of the
differential equation :

d?. i '\2

dg +2LgJ + Oy =x
X

1.  The degree of the differential equation

iz 1.

2 The order of the differential equation

is 2,

Which of the above statements is/are correct ?

{a) 1only
(b} 2 only
ic) Bothland?2

(d) Neither 1 nor?2
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91. argwe gt g-—"'+5:u 1 =49 Bl o1 | 95,
x ¥
27
(a) x°+ _v,r2 =c
(b) x*-y%=c
@ x°4 FE = oxy
dl x+yv=¢
96,
sin 20
92, k F IR AN RS f)=l
k x=0
x = 09T Fag S 8 ?
fa) 2
(b} 1
el =1
@ o 97.
93. a2x+bzyﬁm§|ﬁﬂﬂﬂ, Trlﬁ__'?xy:czg,?ﬂl'f% ?
(a) abe
{b) Zabe
(el 3Jabe
id) dabe
94, I ¢ IR gy ForEeh wE 2 2
X
(a) +e 98.
Inia)
X
b = -
(b) Inta) +
X
e
W ey
d ae*
W e
EDF-S-DGV (26-A)

ﬁyzcsiﬂxﬁ(x—ﬂﬁ%ﬁﬁﬁﬁﬁﬁﬂ

(¥[9) 1 & 41 & ?

(a) ¢

(b} 2¢

fc) 3de

(d}  4c

aﬁ gin 8 + cos 0 = /2 cos 0 %, Al
(cos 0 — sin §) TohEe FT@ET 2 7
(a) —+2cosd

ib) - +2sing

(¢) /2sin®

(d) 2sin0

U v E1 S 44 em 8, 31 UH Sar 6t
ST 22 cm ® | SfaT 1 oy w9 o) wvar w2
27

{a) ﬁ om

21
242

= {m

21
121

—= CIn

21

(h)
el

d}) — em

7

g 1 _i
ﬂﬁsmﬂ=—§3ﬁl‘t«anﬁ— -..I'E %,ﬁﬂ%ﬂ
=qUler | 181 8 7

fa} HHH
) ol
(c) e
(d) qd

& Teachingninia.in



31. What is the general solution of the differential | 95,
equation dy $==07
dx ¥
(a) =+ }'2 =9
by x*— }rz =
(€} =2+ }*2 = oXY
dy m+vy=c 96.
92, The value of k which makes
jsin x x=z0 A
fix)= continuous at x = 0, is
1k  =x=0
(a) 2
by 1
(e} =1
97.
(dy 0O
93. What is the minimum value of a’x + bzy
where xy = 27
{a) abe
(b} 2abc
{c) dabe
{d) 4dabc
94. Whatis j gtintal gy equal to ?
i g 98,
W frila) i
X
b ——
¥ fnia) 4
EK
: B g
i iniae) ¢
X
d ae
L Inia) i
EDF-S-DGV (27 —A)

What is the area of one of the loops between

the curve v = ¢ sin X and x-axis ?

{a) ¢

bl Z2e
{e} 3o
id) de

If sinB+cosl= \Ecusﬂ,
(cos ® — sin O) equal to ?

then what is

(a) —A2cosl
by = +/2sin0
(¢) +/2sn0

(d) 2sinf

In a crcle of diameter 44 ¢m, the length of a
chord is 22 cm. What is the length of minor arc
of the chord ?

{a) %;111 cm
(b) L cm
21
(e e cm
21
44
(@ = cm
7
: 1 1 : ;
Ifsin # = — = and tan ® = ——, then in which
2 3

quadrant does 6 lie ?

{a) First
(b} Second
{c}  Third
{d) Fourth
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99.

1040.

101.

102,

EDF-5-DGV

ia)

FF 1, 2, 3, 4 31 5 F WG Bk 9 IR
forafl oA T et wedt §, wEfs o
=1 g i aEaf 7@ R 2

(a) 36

(b} 30

(c) 24

(d) 12

h F=rd 6 vF TR F T g A G AR
i & e gfio ], 39 #i « 2 o U
forg B®, o fo5 A w1l @& 4 B, T w0
2 | 1f2 AB = 2 2, 71 Fr=aforfigs § & whaw o
a7 ?

F

{a)  h®(cot? ¥- cot’ x)=2z

(hy 2% (cot® V- cot® x) = h®

2

el h? f_i.:m2 ¥ tan? X)y=%

(dy 7% (tan” ¥- tan® x) = h?

T # uwm ¥ wfeewa ofts ™ e
Id # | eEs U™ % Wh gaehl B i STiear
R 7

&)
{h

ic)

= & s 2|-

{d)

—
L)

afe A 3 B & weAd W uwn B fF
P(A) = 0-5, P(B) = 0-6 31T P{A N B) = 04 B, @4
P(AUB ) foras a2 2

09

0-7

05

0-3

()
ol
()

103. U 4 d9 iy A, B 3t o =i o s 2

104.

105.

(28-A)

faeht voa =1 2e s @ wifamand som %

2. 3t i 2| ofg 3 =t =3 =9 4 v H
7 &4 B ar 59 " & ey g & e oum
=1 B fust s 2
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al 39
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32
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=
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99,

100.

How many three;digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is net allowed ?

(a) 36
(by 30
(e) 24
(dy 12
The angle of elevation of a tower of height h

from a point A due South of it is x and from a
point B due East of A is y. If AB = 2, then
which one of the following is correct ?

(a)  h?(cot? ¥ = cot® x) = 22

(b 2* (cot? y- cot” x} = h?
(c) h? lU..umE:g«'—i::an'3 x) = zy'
(d)  7°(tan® ¥ - tan® x) = h?

101. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
{B:l E—].
4
(b -
) 51

1
(o) E
{d —
) 13

102, If A and B are two events such that
PiA) = 0-5, P(B) = 0-6 and P(A N B) = 0-4, then
whatis PCAU B ) equal to ?

(ay 09
by 07
{e) 05
(dy 03
EDF-S-DGV

103.

104.

105.

(29-A)

A problem is given to three students A, B and

C whose probabilities of solving the problem

are %, g and % respectively, What iz the
probability that the problem will be solved if
they all solve the problem independently ?

29
32
27
32

fa)

(h)

25

() ﬁ

23
d —
) 32

A pair of fair dice is rolled. What is the
probability that the second dice lands on a
higher value than does the first 7

(a) %
(b) é
© {%
(d) f%

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
(b) %
{e)* i
@ 3
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106. a2 A, B, ¢ &7 Zeamd &, a1 390 8 FH.9-59 21

107.

108.

Tl & U Gy g2 ) urfesar F R ¢

{(a) PANB)+PEMNCH+PICMNA)

(b)) PANEBE +PB N OC+ FIC N A) -

PlANnB N

PANB + BB N C+ PICN A -
ZRAN BN O

el

(d) PAnN B +PBMNC + MNCN A -

ARANBNO

gf2 2 = X 31 Y @0 B, O 37 d@" gggey
TUTT R Y
{a) 1

{(b)

7fe PB) < P(A) B, &t D(B) fopaeh st=t 2 7

{a) %
® 2
el % s
@
EDF-5-DGY

109. T = (100} J=Ui # W 50 B AT IR

110.

(30-A)

o fermed 10 2 | 9l v YEo § ® 5 T
G s & @ fiw 3@ 4 @ Rurfsm == e
T B, A T H1eg A T e fae e

=T B 7

th)  11-25, 1-25

el 11-29,4:5

(d)} 12:5, 2.5

afz 21 froger et =i e W 2, 99 39 9
$1 wuftmy wlepar @ 2 fF uzd T@ W 6
i, wafs 77 foar gen 2 f6 arl 9 S i
%1 TTEA 8 T8 7

(a)

| b=

1
[} el
(b} y

()

| e

(d)

O | =
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106. If A, B, C arc three events, then what is the

107,

108.

EDF-S-DGV

fa) 1

by -1

(e} O

(d)  None of the above

probability that at least two of these events
oceur together 7

) PLANBI+PFBNC+PICNHA)

(b) PAN B +PBNOC +PCN A -

PANBNO

PANB +PBNC)+ PICN A -
ZHANBNC

el

d PANB+PBNC 4+ PCN A -

SPANBNC)

If two variables X and Y are independent, then
what is the correlation coefficient between
them ?

Two independent events A and B are such

that P(A U B) = -g- and P(A. A B) = é.lf

P(B) < P(A), then what is P(B) equal to ?

(a)

|

(b)

[

ic)

b | ==

o=

109. The mean of 100 observations is 50 and the

110.

(31-A)

standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

{al 45.5

(b)  11-25, 1-25

(e} 1125, 25

(dy 125,25

Il two fair dice are rolled then what is the

conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 87

fa) -;li-
) %
] é

]
@ é

& Teachingninia.in



111, 1 Tl gt o ST R, See % | 118, T % 52 e it wh T A & we B Aged
3w @E 4, 9 el o F, v i T w9 W T AT 2 | g\ A i w2
hww s A e e (ywaw| S TR T @ e & (o ) A 2
&1 wifrera @ 2 6 21 W us St e 0

7

3
(a) —
ST 3
b =}
(h) 17
2
(b} 'a 5
] -_'I—T~
5
{Lj ﬁ :
(d) ﬁ
1
(d -
} 3

114, UF T F S 9% b wal & o s|d 5 oW

112-Eﬁﬁnﬁﬁ,ﬁﬁﬁsqﬁm%ﬂ ﬁm.mmmmaimﬁﬁﬁ
& # | uf 2 e aefees w1 & T wd ¥ T Hen 1 e S A fererer w7
aﬁtgﬂmﬁmﬁrﬁm%aﬁeﬁﬁgﬁg

8 16
; { e
e e G oy #, Ao A R W3
ia) 3 8 4
{b) 503
(b) 4 .
W 22
c) 3’3
el 5
(d) %.%
(d) 6 :
EDF-S-DGV (32-A)
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111.

114.
112. There are n socks in a drawer, of which
3 zocks are red. If 2 of the socks are choszen
randomly and the probability that both
selected socks are red is é, then what is the
valueofn?
(a) 3
by 4
(€] &
id) 6
EDF-3-DGEY ({33-A)

Two symmetric dice flipped with each dice
having two sides painted red, two painted
black, one painted wyellow the other
painted white. What iz the probability that
hoth land on the same colour ?

and

3
0 A
() T
2
b =
(h) g
el i
158
1
{d) 3

113. Two cards are chosen at random from a deck

of 52 playing cards. What is the probability
that both of them have the same value ?

{a)

(b}

(c)

id)

In eight throws of a die, 5 or 6 iz considered =
success. The mean and standard deviation of
total number of successes is respectively given
by

H 186
a)  —, —
-
gy 24
3
(el i. &
b
Wl =4
4 5
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115. 21 5ot A 3R B 39 ywK 3 6 A 3 B
WOt ITEst 2 | A PA) = 05 3T P(B) = 06
2, a1 P(A|B) T AW #2182
(a) %
1
®)
ic) 3
]
1
{d) 5
116. Frefafas saAt w fT=n $ifau
1. THl % U GY=4 H 9% G 9 o
fa=erdl =1 wisfa IR Wed S EEl
t
2, _%Hﬁfﬁﬁéﬁ%%ﬁ
THR TS > W1 > Sgee (Hig) |
I FeAl W @ wEAvE B A 2
(a) <A 1
(b) HaH 2
(e} 13 2 gE
(d} AT 1, TE2
117. 7 ifem X 3l ¥ % = dgEey T 06
2 | afeas w2 ot W 39 ¥R 9fiia @
ﬁz:x+53ﬂTW=§%izﬁr{w%aﬁa
TEgEY T F1 R 7
fal 01
b} 02
() 036
(d) 06
EDF-S-DGV ( 34

118. I 1 3fft 20 % o= F @eft = QU] 1 3 W
o = e S 2, o afwrdt oefi s owE
FTE 7

{a) 9975
(b) 19975
(c) 29925

(d) 389-25

119, 39 =1d = wima 7= & 7 feelt g9 %1 0%
syt forg et wfifn 1 odan 39 & &
siferes @i 21 2

\ 1
(BJ E
1

(b) E
a

) =
(c 1

) == Fauife 8 fe = aa

120. 3z A 3 B2 oA &, 79 A A T A A
o B i B9 & wilma s 8 7

(a) P(A)+P(B)
(b)  PAUB)

ic) PANMNB)

(d) P(A) P(B)

—A)
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115. A and B are two events such that A and B
are mutually exclusive, If P(A) = 0:5f and

P(B) = 06, then what is the value of P(A|B) ?

ta)

1

(hy =
a8
2

{e) E

: 1

d) =
3

119.
116. Consider the following statements :

1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,

2, Arithmetic mean > Median > Mode for a
symmetric distribution,

Which of the above statements is/are correct ?

{a) 1only

(h} 2 only

(c) Bothland?2

(d} Neither 1 nor 2

120.
117, Let the correlation coefficient between X and

Y be 06, Random wariables Z and W are

defined as Z =X + 5 and W = %r—.W'hat is the

correlation coefficient between 7 and W ?

(a) 01

by 02

fe) 036

idy 086

EDF-5-DGVY (35-A)

118, If all the natural numbers between 1 and 20

are multiplied by 3, then what is the variance
of the resulting series 7

(a) 9975

(b} 19975
(e} 29825
(d)  399-256

What is the prebability that an interior point
in a circle is closer to the centre than to the
circumference

- 1
(¢ -
1) 3
1
by =
[ 2
3
{ ok
c) 1
id) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or
event B ?

(a) P(A)+ P(B)
(b) PAUB)
{e} PANB)
(d} P(A)P(B)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50

T.B.C. : EDF-S-DGV Test Booklet Series

TEST BOOKLET
MATHEMATICS

m— —
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

R
10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECE THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSTNG PAGES OR ITEMS,
ETC. IF SO, GET IT REFLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepaney will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside,

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions), Hach item is printed both in Hindi and English.
Each item comprises four responses (answers)., You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any ease, choose ONLY ONE response for each item.

You have to mark all vour responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per ingtructions sent to you with your
Admission Certificate.

After you have completed filling in all your responscs on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheel. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL. BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four allernatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

1ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

{iii}  Tf a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
queslion,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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